Ten" i Re. Viaw

Thursday, February 7, 2019 8:07 AM

MC— /)Qukoa
3x 4 G6x 418 = 90" _, 9x =108° . x =12
34 =367 5 6x -1% 2|54°
TB\mA ’\zel
az25; b=75 52. Find
N
L - L — X <= \)L
c % C ~ 4Aoo0 1oco0
35.52 _
o L — 100 _‘E

Test 1 Review Page 1



) *0=_10 | e |t (Rugmeut

Thursday, February 7, 2019 8:20 AM

AL Lo Tderkban )
© az
COHCAH TOA
@ A
41 q C"AB = ﬂ - ﬁ
Byp | 44
2 40 -

B) A (6+12°) = e (20 £15°) — Cofuchion ideahtion

\'@“PQ'”“““{}]

O +12° L 20 4 AS° = 90O°

_, 30 = 63 _,\e= 20

) \?a/gﬂm*“- MaQ; ,%\ —403"

Chipd . cobomminl = © = — 4o 4 2.3¢6 = 347
e

5%5(:1., EE ,
> Re frnena cwaz - 360" —343°

e’ - 43°\

Test 1 Review Page 2



)

Thursday, February 7, 2019 8:31 AM

.]_w _ /\Lﬂ.A
Ia - I)\:v\W
(Zi,vﬂ-w: T_w -t 1.3', I‘L = 4.0003 “ A<=34.5°.
Fod W
L3 = o rn(31.5°)
1.c0003 Non W

A W = (A.0003). ,\;.\(3«_.5‘*)
1.3

W= e ((i.ooos)- pim(34.5%)
1.3

\W ~ 23 3°

B «£B, a,c

C o 48 = 3O°— 41..30 =
“\’3’ C +O-"I. A = -
b=26 C L

48 3

—n A4 = LhﬁA :(2.53' "'uv\(‘ti?)o) = 213:@

AL“A=LTAC=F . 22 :Q

Test 1 Review Page 3




Thursday, February 7, 2019 8:41 AM

C
7 b 2573 14"
A SV B
1O - S S G P T A U s
24 60 300
‘ b ~ 3¢ lg/r\
SA.

4.2 goo /3600 -~ 3 - j\o'\'h.‘\.om
(.o'\'umc\aQ (70,1 = 42800 - 3 3600 = i200°

F\:ncl)( 1___ C_ —_— —X—:L
e b 24 % ]

Test 1 Review Page 4



Thursday, February 7, 2019 8:49 AM

wned® = _3
2
Fud bt o
Pa&uaoum Tldenhhen -
CO’(.ZO + 4 = At ©

— ("tze = e ® -

qwtzez%—sw{'e:-&i

2 . 0L wmaAl

v - (-3 1_1:%_1_

— X4 -2y =(3)

Test 1 Review Page 5

O uw@QT _. co%e:{z -.L?»
. 2
2% ey .
ne o eesk
3
G | Jhoore R=2 ), y=-2

X14 ‘Al - Rl



®

Thursday, February 7, 2019 8:57 AM

B Giwen b=8. (.4

//<1& Fid touB
C

A b C t2aB = b

(<%

ikl Al 6481 — a2:17

— (A.‘_Jﬁ’ — ‘\a.ﬁB: 8 .ﬁ - SJH
i iﬂ |

) 5 s’ 300° + wnd 150° _ Al 30°
N 3067 CACASL Nee 30°
oD ﬁ, N 2
300° 1 50° = - =
/7 & el Cando® |3
\ e’ Aﬂ.t.%° :i
3
O - 60° e’ - 30°

Nwn 60" -_'\‘—_3 C/:¢30°-_2
2

Am 300° = _ 3 e \50 = 2

Test 1 Review Page 6



Thursday, February 7, 2019 9:06 AM

5"_ - h\:“e" G"\Vt'l'. C:L; 6.1.08
¢ pn©,
C,=b66-10® | O =43°
Fwd O,
61 pn(43?) 6 nimh3®
Lol  Am O, Lot  AnO,
— A;A 62 = £.66 - pun 43‘;
6
e -
—s 6, = Aind(z"“""“z‘?’B ~|32
G
E/)/’
8
23 J. 24°16°
a ="
A C
ton B = & — a:37-co/;(24°*i_60
37 éo

a = 33.313 &‘

Test 1 Review Page 7



Thursday, February 7, 2019

113 AM

0O
wnb Lo — OnKL .".Q

Test 1 Review Page 8



